[ Efficiency vs vertpos |
~ 0.8

] S B S A—

Y, TS TR ——

efficiency vs ver

AT AU S A
; 4 :

OART T HHE L b oo o

R AL T

0.2 b Ty s

0.1 + ++ NN ............
b

o

Ratio
N
T
=

1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_original_step2_ttbar-phasel-newgeom
Efficiend —e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplateCutChiSquareNew5_step?2_ttbar-phasel-newgeom
~N 1.2
—

TR S S

X S Y T S S e

efficiency vs ver

T
: : + l
oo bt

S 1 N N

L : d : :
L : T y#*atean®, i :
0 ....|....|-.*.'..i".'.".'*pt....|....
o r : : : :
=
[ S R S T T -
L : f : ! :
] SEREREE CERTRY (| PEPEPRD CEEERRTFTLPLPERES PRERPEES

]t : : :
-30 -20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.8

0.7

0.6

0.5

0.4

efficiency vs Sim. PV

0.3

0.2

0.3

Ratio
N

—20-15-10 5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


